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EFNERM (20214FE %)

x F 8 M EH g
48 | 58 | 6A | 7A | & | 9B [ 10A | 1A [ 128 | 1A | & 0
BEAH 19 22 26 23 90 5 26 23 22 14 90 180
BEREH 281| 315 389 335 1,320 75| 370|364 334] 192| 1,335 2,655
w5 !ﬁﬁ{*%ﬁlﬁl%&z 2 2 0 0 4 0 3 3 3 2 11 15
REEE (%) 0.7 0.6 0.0 0.0 0.3 0.0 0.8 0.8 0.9 1.0 0.8 0.6
(R ATk — — — — — — — — —
BFERHK 1,784 2,125 2499 2263 8671 452| 2452 2,322 2,169 1,292 8687] 17,358
X = ’r“ﬁ:nﬁ@ﬁ 12 27 31 22 92 8 27 33 44 16 128 220
REEE (%) 0.7 1.3 1.2 1.0 1.1 1.8 1.1 1.4 2.0 1.2 15 1.3
#HEEE — — — — — — — — —
RERK 897| 1,035 1,253 1,104| 4,289 246 1,168 1,140| 1,036] 602| 4,192 8,481
it aa KERaBE 2 12 9 5 4 30 0 4 16 15 4 39 69
IREEE (%) 1.3 0.9 0.4 0.4 0.7 0.0 0.3 1.4 14 0.7 0.9 0.8
(GEADESS — — — — — — — — —
BEREH 918 1,059 1277 1,126| 4380 245] 1,405 1302] 1242] 741| 4,935 9,315
e ﬂ‘:ﬁ{*éﬁlﬁlﬁ 5 9 12 9 35 0 7 5 8 0 20 55
REEE (%) 05 0.8 0.9 0.8 0.8 0.0 0.5 0.4 0.6 0.0 0.4 0.6
(GEADESS — — — — — — — — —
BERH 850 938 1,166| 991| 3,945 215 1,245 1,138] 1,133] 664| 4,395 8,340
e #IREE 5 2 4 4 15 0 6 3 2 4 15 30
_FRPH REEE (%) 0.6 0.2 0.3 0.4 0.4 0.0 0.5 0.3 0.2 0.6 0.3 0.4
[GEADE — — — — — — — — —
BERK 894| 1014 1,210/ 1052] 4170 274 1426] 1312] 1,308) 750 5070 9,240
75 = g ﬁﬂ%{*éﬁ@%ﬂz 5 22 15 2 44 3 10 7 17 2 39 83
REEE (%) 0.6 2.2 1.2 0.2 1.1 1.1 0.7 0.5 13 0.3 0.8 0.9
[GEADE — — — — — — — — —
BEE 582| 655 801 692| 2,730 145| 800 767| 701 422| 2,835 5,565
. AR EIZK 0 0 1 3 4 2 0 0 5 2 9 13
iRl IREEE (%) 0.0 0.0 0.1 0.4 0.1 1.4 0.0 0.0 0.7 05 0.3 0.2
[EEADE: — — — — — — — — —
BEEH 255  267| 357] 291[ 1,170 68 332] 330 298] 172] 1,200 2,370
Fr—— BIREE K 0 0 0 0 0 0 0 0 4 0 4 4
AR IREEE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.3 0.0 0.3 0.2
[GEADE: — — — — — — — — —
BRERK 1,298| 1,449| 1,767| 1531 6,045 337| 1,773| 1672 1619] 929| 6,330 12375
s AR 10 5 2 2 19 0 3 11 3 2 19 38
BIFH REEE (%) 0.8 0.3 0.1 0.1 0.3 0.0 0.2 0.7 0.2 0.2 0.3 0.3
[E ATk — — — — — — — — —
RERK 357| 399| 497| 427| 1,680 90| 522| 467| 456 280| 1815 3,495
A x ki iR E %K 0 3 1 0 4 0 1 2 3 0 6 10
EMEHTS REEE (%) 0.0 0.8 0.2 0.0 0.2 0.0 0.2 0.4 0.7 0.0 0.3 0.3
[EEADE — — — — — — — — —
BERK 443| 458] 638] 516| 2055 126] 579] 603] 510] 297| 2,115 4,170
RR—Y BB 3 5 7 14 29 2 5 8 13 3 31 60
R FH RFEE (%) 07| 11 1.1 2.7 14 16| 09| 13| 25 10 15 14
[GEADE: — — — — — — — — —
BERH 152]  187]  213] 198 750 54| 266| 267| 235 138 960 1,710
LIRSS HEPREREI 2 0 0 0 0 0 0 0 0 0 0 0 0
REEE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[E Dk — — — — — — — — —
BERHK 726| 819] 989 856| 3,390 185) 953| 899| 869 499 3405 6,795
JBR—/\)L-a3a [BREER 4 7 1 3 15 0 3 8 13 1 25 40
Zh—aVER [REE(%) 0.6 0.9 0.1 0.4 0.4 0.0 0.3 0.9 1.5 0.2 0.7 0.6
[E Dk — — — — — — — — —
RERK 358| 429| 489 448| 1,724 94| 503] 468 457| 265 1,787 3511
Ja—/NLihiE  |BrEDR 4 0 0 0 4 2 3 5 0 0 10 14
XALEER 1REEE (%) 1.1 00/ 00 0.0 0.2 2.1 0.6 1.1 00| 00 0.6 0.4
(GEADESS — — — — — — — — —
BEERH 192 199| 265 214 870 54 271 264) 245 141 975 1,845
ILA #IREE R 0 0 3 4 7 0 0 2 0 0 2 9
IREEE (%) 0.0 0.0 1.1 1.9 0.8 0.0 0.0 0.8 0.0 0.0 0.2 0.5
[GEADE — — — — — — — — —
BER 339 382] 466] 403[ 1,590 83 420| 393] 367| 222| 1485 3,075
sk smza g o | FOREEEIE 3 0 1 4 8 4 2 1 10 3 20 28
R A RN B e 00| 0o 00 02 10| 05| 48 05 03 27 14 i3 0.9
R ADE — — — — — — — — —
HRERK 6,499| 7.414| 9021| 7,839 30773| 1639 8352| 7,837 7,408 4.410| 29646| 60419
SRR BHBERE [BARBEH 37 17 68 53 175 7 78 78 79 15 257 432
A IREEE (%) 0.6 0.2 0.8 0.7 0.6 0.4 0.9 1.0 1.1 0.3 0.9 0.7
R ADE — — — — — — — — —
HBEE 263] 295 361] 311] 1,230 63| 352| 328| 316] 186| 1,245 2,475
BAEE- BiREE K 1 1 0 0 2 0 1 1 0 0 2 4
BAXIEHERE [KREE (%) 0.4 0.3 0.0 0.0 0.2 0.0 0.3 0.3 0.0 0.0 0.2 0.2
[GEADE: — — — — — — — —
BEMmE | 17,088) 19,439| 23,658| 20,597 80,782 4,445| 23,189| 21,873| 20,703| 12,202 82412 163,194
& & #iREEMmEKR| 103 109 151 124 487 28| 153|183 219 54 637 1,124
= " REEE (%) 0.6 0.6 0.6 0.6 0.6 0.6 0.7 0.8 1.1 0.4 0.8 0.7
LR ATk — — — — — — — — —
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